SUGGESTED ANSWERS (**diagrams and answers may vary)

Investicavion 1: Is AR a SimiLarnky SHORvCUE?

1. Draw any triangle ABC.
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2. Construct a second triangle, DEF; with <= D =<2 A and < E Z< B, What will be true
about < C and < F? Why?

Angle C and Angle F must be congruent because the three angles of each

triangle must add up to 180°.

3. Carefully measure the lengths of the sides of both triangles. Compare the ratios of the

. . AE
corresponding sides. Is — & — & —=?

The ratios should be equal.

4. Compare your results with the results of others near you. State your findings as a
conjecture:

If two angles of one triangle are congruent to two angles of another

triangle, then the two triangles are similar.

5. What theorem can be used to help prove your conjecture above? Explain.

This reviews the triangle sum theorem (see reason from #2).
6. What similarity shortcuts do we not have to investigate? Why?

We do not have to investigate AAA, ASA, or SAA because we have shown

that AA is enough to prove two triangles are congruent.




Invesvigarion 2: /s SSS a suniLary SXORI TS

1. Draw any triangle
ABC.
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2. Construct a second triangle, DEF, Whose side length are a multiple of the original
triangle.

3. Compare the corresponding angles of the two triangles.
Compare your results with the results of others near you and state a conjecture.

If the three sides of one triangle are proportional to the three sides of

another triangle, then the two triangles are similar.

Invesvication 3: /s SAS a SuniLarny SXORI IS

1. Construct two different triangles that have two pairs of sides proportional and pair of
included angles equal in measure. (You may use AABC from investigation #2, just
construct a new ADEF)
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m<LABC =92.09°
m~DEF =92.09°

Compare the measures of corresponding sides and corresponding angles.
3. Share your results with others near you and state a conjecture

If two sides of one triangle are proportional to two sides of another triangle

and the include angles are congruent, then the triangles are similar




